Chapter 7 | Equations and Inequalities

Date: 7.1 Writing Equations in One Variable
Essén}:ia! How does rewriting a word problem help you
Que$tt0ﬂ solve the word problem?
Voigab : Word Definition = Examples
: a mathematical 4+7
PXPEsSSION|  gentence without 3y-8
an answer .
a mathematical 12=20-8

sentence thatuses |
an equal sign (=) to |3 X8=4XE

show thattwo |5(2m -6)=70
expressions are equal e

equation
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4 less thananumber yis 3.

48 is 12 times a number p.

48=12p




Complete numpers 1-4.on your notes page

) The quotient of anumber gand4isi2.

3) “The product of @ number g and 5is 30. -

g e ¢5=30

~4) A number k increased by 10is the same as 24.

K#10=24




Complete number 4 in your Composition book..
~ferrservers decorate 25 tables 9.

Each table is decorated with 6 blue candies and 4
white candles. Let ¢ be the total number of whit —
and blue candles needed for all the tables. Which

equation can be used to find how many candles
will be needed?

Draw a picture to help you visualize. ‘

c =25+{4+6})
C=25+ 4)(6"
JC= 25{4 B

C=25(4 X6

oOw>




Complete number 4 in your composition book.
ferrservers decorate 25 tablesfor-awedding.

Each table is decorated with 6 blue candies and 4 —
~white Candies Letcbethe total number """ .f Whit o
and biue Candles needed for all the tables Wh!Cl” :

equation can be used to f !ﬂd how many candles o
willDeneeded? .

totalnumber ;s totaltables. . thenumber

of candles e e - SRR S e
ONEachn 4
— table 4

~Write your own equation and

compare it to the answer choices. |

}_,A.‘ C=25+(4+6

B.) C=05+(4%x6)

(Q C = 25(4+ 6] >
D.) C=25(&X
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